
Math 123 

Quiz 3 

Fall 2013 	 Show All Work 

Name kej 

1) Without graphing, determine the vertex of the parabola that is the graph of the given function. 

State whether the parabola opens upward or downward. 

a) h(x)=4(x+1) 2 -9 
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b) f (x) = x 2 — 8x + 25 
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2) Graph the parabola f(x) = (x - 1)2 - 3 
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3) The revenue function R(x) and the cost function C(x) for a particular product are given. These 

functions are valid only for the specified domain of values. Find the number of units that must 

be produced to break even. 

R(x)=400x-2x 2 ; C(x)= —x 2  +200x+ 1900; 0 x :5 100 
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4) Graph f(x) = (x + 3)(x - 4)(x + 1) 
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